F+E T —XNTER

1 g-3=12a=" 2 z_%z_%,xzv
3 M+10=17,M =7 4 a+74=-8,a="
5 8z+3="Tz-5,x=" 6 Ar=3z-5,2="
7 T+y=15,y= 8 S5r-7T=4z,2="
9 52=30,2=" 10 -z=18,2="
11 12 Ty=-21
-4a=-28,a="
13 Z_ 14 zZ_2 _
E= L= 6_3’2_?
a
15 -§=30a-7 16 -b:-%, =7
17 - 1od s 18 8k+8="Tk-6,k=7
19 6y=42.9=T7 20 3
y Y Zy:g,yZ?
21 1 6 22 Ty-8=-4y-17,y="7
eSO S ;
2T =150
23 24 3z+7=19,2="7
Tr-5=32+10,z="
25 -z+15=22+3,2=" 26 3(2z-1)=21,z="7
27 -52-8=-6-Tz,z="7 28 -z+15=2z+3,2="7
29 4x+5+3(z-2)=2(z-1),z="? 30 15+3(z-2)=6z,2="7
31 7(z-2)-3(3z-5)=41,z=" 32 2(4z+5)=312z-4),z="
33 8-2(y+3)=-(-y+7)y=" 34 e =la="1
35 5 36 4$+1:%,x—7
1-2:3,:1;:?
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K 1 K 3 T
37 3-3=F t9.K=T 38 2—2:3@:?
3 % %+%=1,y:7 40 %x-lz—x 2=
41 z+1 2z-3 42 3(y-1) y+2
2 :1:7 o= (4 )_g8_25y:?
43 2z+1_ 2z-4) 44 t+2 2z-4 o
5 — 3 Z=! 3 -~ 5 =Lz=T
45 3n-7) 1 46 3y-2 2y+1
6‘ 4 :271,17,:? T:T,y:
224+1 2(z-4
47 %(:c—3)+%(a:+2):0,x:? 48 x5+ = ($3 ),m:?
R =R

1 2809 2 £5H0 13 F7F 33, KUbE.

2. BEORIA 7 BE 3 SFTUCESRIAS A0 L 13, KL%
RS 37, KIE T EL

4. KLBEFHE 9N, EBELLEZ 3N, BELXEZEFILA?

5. BRHtH 35 R, HEHHHE 100 R, BBREF/LR?

6. H. ZWAREAHEHF 600 T, WEFRLZ 50 Ta, NHNREFEL2E, (6
H. ZRAREZE ZD5k?

7. RAEFE PN, EBERTELZ I AN, RABLEZHILA?

8. AWM N—R—/HE(EE) HARUENINE, SNRARRHEEFHN, BHE
Mz EEMET A 2HEE?

9.7 7, XFEMFRZILTHA4ME FILTIUERS Y, HFIAEILS?

10. H, ZWARAKHH 600 T, WERLZ 50 Tha, MHEBEREFE LM 2 15,
H. ZWARRZEEZD5K?
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